

① $a_n = a_1 r^{n-1} = \frac{1}{r} r^{n-1} \rightarrow a_{10} = \frac{1}{r} r^9 = r^8 = 256$

ب) $\frac{1}{r} \times r^{14} = r^8 = 14$

ج) $a_8 = a_1 r^7 \rightarrow a_8 = \frac{1}{r} \times r^7 = r^6 = 128$

د) $\frac{1}{r} \times r^{n-1} = 128 \rightarrow r^{n-1} = 128 \rightarrow n-1 = 7 \rightarrow n = 8$

② $a_8 = a_1 r^7 = 128$
 $a_1 = a_1 r^0 = 64$
 $\frac{128}{64} = r^7 = 2 \rightarrow r = 2$

$a_{10} = a_1 \times r^9$
 $\rightarrow 64 \times 2^9 = 1024$

③ $(a_8)^2 = (a_1 r^7)^2 = 256 \rightarrow a_1 r^7 = 16$
 $a_1 \times a_8 = a_1 \times a_8$
 $\rightarrow a = a \times a$

④ $(\sqrt{2})^2 = 2 \times 2 \rightarrow 14 \times 2 = 28$
 $a+b = 2, a = 14 \rightarrow b = 14$
 $\frac{a+b}{2} = 14 = 14$

⑤ $a_n \times a_m = (a_1)^2 \rightarrow (x+1)(1-x) = x^2 \rightarrow x^2 + x - x^2 - 1 = 0$
 $1 - x^2 = x^2 \rightarrow 1 = 2x^2 \rightarrow x^2 = \frac{1}{2} \rightarrow x = \pm \frac{1}{\sqrt{2}}$
 $x = \frac{1}{\sqrt{2}}$

$$\textcircled{4} \begin{cases} a + aq^r = 11 \\ aq + aq^r = 11 \end{cases} \rightarrow \frac{a + aq^r}{aq + aq^r} = \frac{11}{11} \cdot \frac{1}{1} = 1$$

$$\frac{a(1+q^r)}{aq(1+q)} = \frac{(1+q)(1+q^r-1)}{(1+q)q} = \frac{1+q^r-1}{q} = \frac{1}{q} \rightarrow 1+q^r-1 = 0 \rightarrow 1+q^r-1 = 0$$

$$\rightarrow \frac{10 \pm \sqrt{40}}{4} \begin{cases} \frac{11}{4} = 1 \\ \frac{1}{4} = 1 \end{cases} \rightarrow a + aq^r = 11 \rightarrow a(1+q^r) = 11$$

$$\rightarrow a_1 = 1 \rightarrow a + \frac{1}{a} a = 11 \rightarrow a_1 = 11$$

$$\boxed{11} \cdot 1, 1, 1 \rightarrow 1, 11, 1, \boxed{11}$$

$$\textcircled{5} a \cdot \frac{a}{q} + a_r + a_r q = 11 \quad \frac{a^2}{q} \times a_r \times a_r q = 11 \rightarrow a_r = 11$$

$$\frac{11}{q} + 11 + 11q = 11 \rightarrow 11q^r - 10q + 11 = 0 \rightarrow \frac{10 \pm \sqrt{100 - 44}}{2} \rightarrow \frac{10 \pm \sqrt{56}}{2} \rightarrow \frac{10 \pm 2\sqrt{14}}{2} \rightarrow 5 \pm \sqrt{14}$$

$$q = 1 \rightarrow 1, 1, 1 \quad q = \frac{1}{11} \rightarrow 1, 11, 1$$

$$\textcircled{6} 1_{10} = a_1 \cdot \frac{(q^{10} - 1)}{q - 1} = \frac{11 \times (11^{10} - 1)}{11 - 1} = 11^{10} - 1 \text{ (نوع)}$$

$$\rightarrow (a_1 \times a_{10})^{\frac{1}{10}} = (11 \times a_{10})^{\frac{1}{10}} = (11^{\frac{1}{10}} \times a_{10})^{\frac{1}{10}} = (11^{\frac{1}{10}} \times 11^{\frac{9}{10}})^{\frac{1}{10}} = 11^{\frac{1}{10} \times \frac{10}{10}} = 11^{\frac{1}{10}} = 11^{\frac{1}{10}}$$

$$\textcircled{7} \begin{cases} aq - a \\ aq^r - aq \\ aq^r - aq^r \end{cases} \rightarrow (aq - a)(aq^r - aq) = (aq^r - aq)^2$$

Date : / /



$$a, aq, aq^2, \dots, aq^{n-1} \rightarrow (aq-a), (aq^2-aq), \dots, (aq^n - aq^{n-1})$$

$$a(q-1), aq(q-1), aq^2(q-1), \dots, aq^{n-1}(q-1)$$

$$\rightarrow (q-1) [a, aq, aq^2, \dots, aq^{n-1}] \rightarrow \text{سلسلة ج. 9}$$

١٥) $a_1 + a_2 + a_3 + \dots + a_n$
 $a_n + a_{n-1} + a_{n-2} + \dots + a_1$

$$\rightarrow n(a_1 + a_n) \rightarrow \frac{n}{2} (a_1 + a_n) \quad \square$$

$$1) a + aq + aq^2 + \dots + aq^{n-1} \rightarrow \frac{a(1 + q + q^2 + \dots + q^{n-1})(q-1)}{q-1}$$

$$\rightarrow a \left(\frac{q^n - 1}{q - 1} \right) \quad \square$$